

$$\int \frac{1}{2} \frac{1}{1 + 3} \frac{1}{2} \frac{1}{2$$

Is
$$x_1 = -\frac{5}{4}$$
, $x_2 = \frac{4}{7}$ a solution to the original
linear system?
Yes, because the operations work also in reverse.

$$\begin{cases} x_1 = -\frac{5}{7} \\ x_2 = \frac{4}{7} \end{cases} \implies (x_1 + 3x_2 = 1) \qquad (x_1 + 3x_2 = 1) \\ x_2 = \frac{4}{7} \implies (x_1 + 3x_2 = 1) \\ x_2 = \frac{4}{7} \implies (x_1 + 3x_2 = 1) \\ x_2 = \frac{4}{7} \implies (x_1 + 3x_2 = 1) \\ x_2 = \frac{4}{7} \implies (x_1 + 3x_2 = 1) \\ x_2 = \frac{4}{7} \implies (x_1 + 3x_2 = 1) \\ x_1 + 3x_2 = 1 \\ (x_1 + 3x_2 = 2) \end{cases}$$
Therefore:

 $\begin{array}{c} \hline \textbf{Example 3} \\ \hline \textbf{Figure 1} \\ \hline \textbf{Figure 2} \\ \hline \textbf{Fi$

 $\stackrel{(=)}{=} \begin{cases} X_1 - 9X_2 - 8X_4 = -14 \\ X_2 + X_4 = 2 \\ X_3 - 3X_4 = -6 \end{cases}$

$$\begin{cases} x_{1} + x_{q} = 4 \\ x_{2} + x_{4} = 2 \\ x_{3} - 3x_{4} = -6 \end{cases}$$

$$\begin{cases} \Rightarrow \\ X_1 = 4 - X_4 \\ X_2 = 2 - X_4 \\ X_3 = -6 + 3X_4 \end{cases}$$
 The variable X_4 can be choosen arbitrary.
 We set $X_4 = t$ for some $t \in \mathbb{R}$.

All the solutions are given by $X_1 = 4 - t$ for $t \in \mathbb{R}$. $X_2 = 2 - t$ $X_3 = -6 + 3t$ $X_4 = t$

Each equation contains a variable Equation (*): that occurs in no other equation: (X, X2, X3), called pivot variables. The other variables (x_4) are called free variables. This equation is in row-reduced echelon form (see HWI for a definition). Later we will define this for matrices. How to get to this form? Definition 1.2 Elementary row operations (RI) Add a multiple of an eq. to another. (R2) Multiply an eq. with a non-zero number. (R3) Change the order of the eq. Since all elementary row operations work in reverse we get: Proposition 1.3 Applying an elementary row operation to a linear system does not change the set of all colutions of this linear system.

$$\begin{array}{c} (=) \\ (R2) \\ (=) \\ \begin{cases} X_{1} + X_{2} + X_{3} - X_{4} = 0 \\ -X_{3} + X_{4} = 0 \\ -2X_{3} + X_{4} = 1 \\ \end{array} \begin{array}{c} (R1) \\ X_{1} + X_{2} + X_{3} - X_{4} = 0 \\ (=) \\ X_{3} - X_{4} = 0 \\ -2X_{3} + X_{4} = 1 \\ \end{array} \begin{array}{c} (R1) \\ X_{1} + X_{2} + X_{3} - X_{4} = 0 \\ X_{3} - X_{4} = 0 \\ (=) \\ -2X_{3} + X_{4} = 1 \\ \end{array}$$





Pivot variables Free variable

The free variables can be choosen arbitrary.
We set
$$x_2 = t$$
, $t \in IR$.
All solutions are given by $x_1 = -t$ for $t \in IR$
 $x_2 = t$
 $x_3 = -1$
 $x_4 = -1$